STA 4210 – Fall 2014
Exam 1 – Take Home Portion

Each student has n=12 observations, at the X levels given at the top of the page. 
Neatly complete the following parts on the separate answer sheet, based on the simple linear regression model 
with independent and normally distributed errors of constant variance. 
This is due at beginning of Exam 1 on Friday, Sept. 19. No late exams will be accepted.
1) Obtain the least squares fitted equation. Give the first fitted value and residual.

2) Give the error sum of squares and the mean square error.

3) Give a 95% confidence interval for 1.

4) Give a 95% confidence interval for 0
5) Give a 95% confidence interval for E{Y|X=35}

6) Give a 95% prediction interval for a new observation when X=35

7) Give the Analysis of Variance

8) Use the F-test to test H0: 1 = 0   versus  HA: 1 ≠ 0  (=0.05)

9) Obtain R2 and r
10) Use the correlation test to test H0:  = 0 versus HA:  ≠0  (=0.05)
